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(1) 9cm? = odL
(2) 4mL = omm?
(3) 5m> = odL
(4) 7L = om’
(5) 6cm3 = omm?3
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(1) 9cm?3 = 0.09 dL
<HRBt>
1L=10dL. 1L=1000cm>#® T10dL=1000cm>

1dLI£1000+10=100cm?
£2T.9+100 = 0.09dL

(2) 4mL = 4000 mm?>
<R 5>
ImL =1lcm3
ImL =lcmXxlcmXxlcm
= 10mmx10mmx10mm
=1000mm?>

2T 4%x1000 = 4000mm?

(3) 5m3 = 50000 dL

<fBE>

1m3 =ImxImxIm
=100cmx*x100cm*x100cm
=1000000cm?>

1L=1000cm> DT, 1m3(£1000000+1000=1000L

1L=10dLIED T, 1m3(£1000x10=10000dL
£27T. 5x10000 = 50000dL

(4) 7L = 0.007 m>

<fR3H>

Im3 =1mxIlmxlm
=100cm*x100cmx=100cm
=1000000cm?>

1L=1000cm3E DT, 1m3(21000000+1000=1000L
&2T. 71000 = 0.007m3

(5) 6cm?3 = 6000 mm?>
<fEEH>
lem? =lcmxlemxlem
= 10mmx10mmx10mm
=1000mm’

£2T. 6x1000 = 6000mm3
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